Rear Bumper for Can Am Maverick X3 pp—

ZP-YJ-030606-002 Sh =

BEFORE YOU BEGIN

Read these instructions and check to be sure all parts and tools are accounted for. Please retain

these installation instructions for future reference.

KIT CONTENTS

REF PART DESCRIPTION QTY | REF PART DESCRIPTION QTY

1 Outer hexagon screw(M10*70) 2 7 Self-locking nut(M12) 2
2 Inner hexagon screw(M10*50) 4 8 Flat pad(M6) 4
3 Inner hexagon screw (M8*16) 8 9 U-shaped nut(M6) 2
4 Inner hexagon screw (M6*20) 4 10 Clamp 2
5 Self-locking nut(M6) 2 11 Decorative board 1
6 Self-locking nut(M8) 4 12 Assembling parts 2

IMPORTANT

This Rear Bumper Kit is exclusively designed for your vehicle. Please read the installation

instructions thoroughly before beginning. Installation is easier if the vehicle is clean and free of

debris. For your safety, and to ensure a satisfactory installation, perform all installation steps

correctly in the sequence shown.




Rear Bumper for Can Am Maverick X3 "
ZP-YJ-030606-002 SA

INSTALLATION INSTRUCTIONS
ACCESSORY INSTALLATION

1. Connect part E and part F with part A and
part C respectively to assemble part A1 and
part B1 with four M8*16 inner hexagon screws.

THE REAR BUMPER INSTALLATION

1. Install the assembling parts on the frame

with the hexagon screw(M10*70), don’t tighten
EE s T e W the screw.

2. Connect parts A1, B1 and B with four M8*50

inner hexagon screws and four M8

locknut.

P ‘P?{ -

b .38 ¢ - : A 5’” ]
3. Assemble part C1 and part D with four
M8*16 inner hexagon SCrews.

R — £ Y

2. Install the bumper on the rear frame with 2
self-locking nut(M12).




Rear Bumper for Can Am Maverick X3 S
ZP-YJ-030606-002 SA

3. Install the decorative board on the bumper,
secure the bottom wiht 2 inner hexagon screw
(M6*20) and 2 self-locking nut(M6), U-shaped
nut(M6) fixed on the clamp as shown in the
picture,then install the decorative board with 2
inner hexagon screw (M6*20).



	BEFORE YOU BEGIN
	KIT CONTENTS
	IMPORTANT
	INSTALLATION INSTRUCTIONS

